BUILDING ECONOMICS 2011/2012 SPRING SEMESTER

Rep. test. 1.

· Calculate Internal rate of return (IRR) of the following cash flow diagram

(i=9%)
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(3 points)

1) A development project needs 18 mln EUR initial investment. The project will earn 2.7 mln EUR in years 1-8 in each year.  In year 6 the developer decides to extend the project at a cost of 7 mln EUR. Between years 8-12 the project will bring  2.8 mln EUR annually. In year 12 he sells the project for 15 mln EUR. (i=13%)

· How much is the project’s IRR ? 




(3 points)

   3)


	
	C 
	D

	Initial investment cost
	327
	438

	Annual net income
	X
	23

	lifetime
	17
	17


(i=10%)

Which is better ? 
(4 points)
Have a good success !
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